
Salotech International B.V.
Member of DERC Beheer B.V.

Salotech International B.V. - P.O. Box 1589 - 3260 BB Oud-Beijerland
Jan van der Heijdenstraat 44 - 3261 LE  Oud-Beijerland - The Netherlands
Tel:  +31 (0)186-621484 - Fax: +31(0)186-621113 - internet: www.salotech.nl - e-mail: info@salotech.nl

Member of DERC Beheer B.V.

Salotech International B.V. - P.O. Box 1589 - 3260 BB Oud-Beijerland
Jan van der Heijdenstraat 44 - 3261 LE  Oud-Beijerland - The Netherlands
Tel:  +31 (0)186-621484 - Fax: +31(0)186-621113 - internet: www.salotech.nl - e-mail: info@salotech.nl

zero thr. gun eng rev-001

60 Second Cartridge Overhaul

Remove cartridge
adapter

Align lobe on cartridge
assembly with groove in
cartridge adapter and
turn counter clockwise to
unlock and remove.

Replace cartridge and
install in block

STEP 1 STEP 2 STEP 3

HG SERIES
Hand-Held Zero Thrust Control Gun
Pressures to 1000 Bar

Designed for underwater or topside use where balance is critical.
The equal forward and backward thrust allows the operator to be in balance.

Constructed of stainless steel for corrosion resistance.
Verticle inlet connection for underwater use. Adjustable hand grip.

Features 60 second cartridge overhaul.
Weighs only 16 Lbs. (7.26 Kg) 800-1050 Bar

Model HGZT-15K
Zero-Thrust
Control Gun
Part #700655

Trigger
Safety
Latch

Diffuser Tube Assembly

Easy
Cartridge
Overhaul

Adjustable
Hand Grip

Straight Inlet Tube
1/2" NPT

Shroud
Adapter

Safety Whip
Hose

Safety Shroud

Quick
Disconnect
Coupling
Assembly

Safety Shrouds and Whip Hoses

Applications/Features:

Operator safety is the first consideration when waterblasting, the 1000 Bar

Safety Shroud is designed specifically for use with hand held control guns.

These safety shrouds protect the operator from dangerous hose failures

occurring near the gun. One should NEVER connect an unshrouded hose

directly to a waterblasting gun. ALWAYS connect a whip hose and safety

shroud to the gun first, then connect the appropriate hose to the other end

of the shroud/whip hose with a quick coupling. The 1000 Bar Safety

Shroud features a nitrile outer cover which is water, oil and soil resistant.

The inner material consists of high strength braided stainless steel. The

1000 bar shrouds also include a layer of woven KevlarTM for superior

strength.

Item Description:         Quantity Part no.

ASSY. 700 Bar Safety Shroud with Whip Hose Assembly 1 516018
1 SAFETY SHROUD ASSEMBLY, 1000 BAR 1 516015
2 WHIP HOSE, 1/2" NPT x 1,8 MTR, 700 BAR RUBBER 1 516017
3 SAFETY SHROUD ADAPTER, 1000 BAR 1 516016

ASSY. 1000 Bar Safety Shroud with Whip Hose Assembly 1 516032
1 SAFETY SHROUD ASSEMBLY, 1000 BAR 1 516015
2 WHIP HOSE, 1/2" NPT x 1,8 MTR, 1000 BAR RUBBER 1 516025
3 SAFETY SHROUD ADAPTER, 1000 BAR 1 516016

ASSY. 1000 Bar Safety Shroud with Whip Hose Assembly 1 516039
1 SAFETY SHROUD ASSEMBLY, 1000 BAR 1 516015
2 WHIP HOSE, 3/8" NPT x 1,8 MTR, 1000 BAR RUBBER 1 515021-6
3 SAFETY SHROUD ADAPTER, 3/8" NPT, 1000 BAR 1 516063



ITEM DESCRIPTION: QUANTITY PART NO.ITEM DESCRIPTION: QUANTITY PART NO.

6b

13 1

5

16

17

23

4

21

15

12

1011

3

22

6a1487

20

18

25

2421

6b

6a

19

COMPLETE HG Series Hand Held Zero Thrust Control Gun 1 700640B-15ZT
1 Straight inlet Tube HGT 1000 Bar 1/2” NPT 1 700060
2 Manifold zero thrust gun 1 31.0934.001
3 Cap screw, 1/4"-20 x 3/4" long 1 408020
4 Screw, 1/4"-20 x 1" SHCS SS 2 700610
5 Screw, 1/4"-20 x 1/2" SHCS 2 513017
6a Type 4/19 holder 3/8 NPTF 2 4050.6.38NF
6b Nozzle cap type 4/19 nozzle 2 4050.2.005
7 Cam stud assembly, 1/2” pipe 1 513031
8 Hand grip frame, 1/2” pipe 1 513033
9 Valve cartridge assembly, 700 / 1000 Bar 1 700015A

10 Safety latch, HG/HGLT 1 700025
11 Safety latch pin 1 700027

12 Trigger pivot pin 1 700045

13 Zero thrust diffuser assembly 1 31.09341
14 Barrel 3/8” 122 cm 1000 Bar 1 700106
15 Trigger guard, 700 / 1000 Bar 1 700513
16 Safety latch spring 1 700517
17 Nut, 1/4” square 1 700528
18 Ultra safe dump tube 1 700613
19 Ultra safe 1000 Bar dump gun block 1 700615
20 Dump adaptor for 1000 Bar dump gun 1 700616
21 Trigger for 1000 Bar dump gun 1 700617
22 Handle, 1400 Bar dump gun 1 700625
23 Lock washer, 1/4” SS 1 408150-3
24 Dump tube baffle for dump style 1 700631
25 Dump tube baffle plug for dump style 1 700630

20

9


